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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-I11 Examination, 2020

HISTORY
PAPER-HISA-VII
Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifese N T5Z TG 2l e T 1
Candidates should answer in their own words AN (A0S CIRIF - FTG] TN M
and adhere to the word limit as practicable. &7 PRE
GROUP-A
Retot-+
1 Answer any two questions from the following: 5x2 =10
fsfeTie @-cPieal 76 eltss Tex nies
(8 What was the significance of the Dawes Plan?
There AfaTEa wwy Ji fze 2

(b) Analyse the significance of the Munich Pact (1938).
fefad pfea (S0 0b) Ol S St

(c) Why did the Nazi-Soviet Non-aggression Pact (1939) fail?
H-EfETEs T 5 (dp0s ) A Z@Re @ 9

(d) Explain the importance of the Marshall Plan.
et ~AfaFemE Siee” A S|

(e) Write a short note on the Suez Crisis (1956).
TG IRFT (SCY) TN @ e TPl @+l

(f) What do you mean by De-colonisation?
R-Soiferiarael F@I0o il F @IGH ?

(9) What do you mean by Berlin Crisis?
AT I @S Gl F @R 2

(h) What do you know about Glasnost and Perestroika?
‘ST’ @ CPICCRIRT! =10 S 1 @ical 2
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GROUP-B
Tet-2

Answer any two questions from the following

formferRre Ca-ceitl 716 eiveia Taa mie

What do you mean by the policy of appeasement? Would you justify its adoption
by Britain and France towards fascist countries?

(oI o e F @I 2 TR (reieslert 2o [Hoa © TR core Tifo aze & gy
LN I 9

Discuss the activities of the League of Nations. Why did it ultimately fail?
Nl O (T*I- G PN SCes a1 @fb g #fe @ g zeafee ¢

What do you mean by ‘Cold War'? Was it essentidly a clash between two
contending ideol ogies?

! FTGIR FEICe F @I 2 @t F1 ffvescet 7o Ramwie sromeda sk e iz
AR 2

Analyse Stalin’s foreign policy after 1945.
08¢ 97 77 TR Rewiatife Rese e

Examine the origin of the Palestine problem. How did it affect the politics of the
Middle-East?

PNETBIZA TP TEI I FEN| 93 A NG-2N O AT OE Froid 2ele
IR 9

Why did France fail to maintain her hold over Vietham? Did the Geneva
Accord (1954) provide afirm basis for the solution of the Vietnam problem?

T (1 OEeAeR T27 OiF F9 I ACe I 2@ MR 9 35e8 AEW (Sel §fe
Ft FSTTen T T 95 v fefe amis sefe

Explain the importance of the emergence of the ‘Third World’ in Post-Second
World War international politics.

TSI 7 7R | SE 63 AGISCS oA N8 SRITHR @G I FC |

Analyse the impact of the rise of Communist Chinain international politics.
ST [OF ACTGTO PGB bItd SR 2SR RTsel Tl

Discuss the impact of globalisation on the contemporary world.

Tl [Ree Reea ereiq Seetsa et
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20x2 =40

5+15

12+8

4+16

20

16+4

8+12
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